
٢٠٧אאא
אאאאא

 
 

- ٩١ - 

אF٤}٢E(ku’)אאאאK 


F٤}٢Eku’אא
אku’

(Cohesionless granular soil) ١٩٢}٠
(Sand and gravel)١٦٥}٠

(Saturated topsoil)١٥٠}٠
(Saturated clay)١٣٠}٠

(Saturated clay) ١١٠}٠

F٤}١WE
Wאא،א

 אZ٦٠٠K 
 אZ٦}٣K 
 אZ٢}١K 


אW

אאWEW

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ku’ = 0.11 
 
W = 1920 kg/m3 
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WE = 2.2 × (1920) × (1.2)2 = 6082 kg/m 


